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QUESTION 1

Which log records detailed information such as statistics, metrics and debug information on the NetScaler in a
proprietary binary format? 

A. Syslog 

B. Nslog 

C. Nsconfig 

D. Nstrace 

Correct Answer: B 

 

QUESTION 2

View the Exhibit. 

A Citrix Administrator has executed the commands in the screenshot on the NetScaler using the command-line
interface. 

Click on the `Exhibit\\' button to view the screenshot of the command-line interface. 

Which two replacements will be the outcome of executing these commands? (Choose two.) 

A. http:// will be replaced by https:// in the HTTP RESPONSE 

B. https:// will be replaced by http:// in the HTTP RESPONSE 

C. http:// will be replaced by https:// in the HTTP REQUEST 

D. https:// will be replaced by http:// in the HTTP REQUEST 

Correct Answer: BD 

 

QUESTION 3
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Click the "Exhibit" button to view the screenshot. 

How will the HTTP request "http://xenapp.training.lab/url1" be redirected based on the screenshot? 

A. The request will be sent to LB_vserver1. 

B. The request will be sent to lb_vsrv_www. 

C. The request will be dropeed at the CS vServer. 

D. The request will be sent to LB_vserver2. 

Correct Answer: A 

 

 

QUESTION 4

A user needs to resolve the domain training.citrix.com, and the information is NOT available in resolver cache and Local
Domain Name Server (DNS). 

Where will the request be forwarded next? 

A. Root server 

B. Authoritative Name server 

C. Top-level Domain server 

D. Second-level Domain server 

Correct Answer: A 

 

QUESTION 5

Which NetScaler-owned IP address will send traffic from the NetScaler to NTP servers by default? 

A. NSIP 
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B. CLIP 

C. SNIP 

D. VIP 

Correct Answer: A 

 

QUESTION 6

What is the effect of the set gslb parameter ?IdnsprobeOrder DNS PING TCP command in an Active/ Active Global
Server Load Balancing (GSLB) setup? 

A. The order to calculate the Empty Domain Service (EDS) for Dynamic proximity will be the DNS UDP query followed
by the PING and then TCP. 

B. The order to calculate the Round-trip time (RTT) for Dynamic proximity will be the DNS UDP query followed by the
PING and then TCP. 

C. The order to calculate the Time to live (TTL) for Dynamic proximity will be the DNS UDP query followed by the PING
and then TCP. 

D. The order to calculate the Multiple IP responses (MIR) for Dynamic proximity will be the DNS UDP query followed by
the PING and then TCP. 

Correct Answer: B 

 

 

QUESTION 7

Which mode on the NetScaler can a Citrix Administrator utilize to avoid asymmetrical packet flows and multiple
route/ARP lookups? 

A. Layer 2 

B. MAC-based forwarding (MBF) 

C. Layer 3 

D. Use Subnet IP (USNIP) 

Correct Answer: B 

 

 

QUESTION 8

Scenario: Client connections to certain virtual servers are abnormally high. A Citrix Administrator needs to be alerted
whenever the connections pass a certain threshold. 
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How can the administrator use NetScaler Management and Analytics System (MAS) to accomplish this requirement? 

A. Configure SMTP Reporting on the NetScaler MAS by adding the threshold and email address. 

B. Configure TCP Insight on the NetScaler MAS. 

C. Configure Network Reporting on the NetScaler MAS by setting the threshold and email address. 

D. Configure specific alerts for virtual servers using NetScaler MAS. 

Correct Answer: C 

 

 

QUESTION 9

Scenario: A Citrix Administrator has configured the NetScaler as a DNS Proxy Server. The administrator executed the
commands in the screenshot on the NetScaler using the command-line interface. 

Click on the `Exhibit\\' button to view the screenshot of the command-line interface. 

What will be the effect of this configuration? 

A. Set TC bit and rcode as NOERROR in the DNS Response from DNS server 

B. Set TC bit and rcode as NOERROR in the DNS Request from Client 

C. Create a DNS Response with TC bit set and rcode as NOERROR 

D. Create a DNS Request with TC bit set and rcode as NOERROR 

Correct Answer: D 

 

QUESTION 10

A Citrix Administrator is configuring Unified Gateway with authentication policies. 

Where should the administrator configure NetScaler Gateway authentication policies? 

A. Global level 

B. Unified Gateway level 

C. Content-Switching level 

D. NetScaler Gateway level 
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Correct Answer: D 

 

QUESTION 11

A Citrix Administrator has configured the NetScaler as a DNS Proxy Server. The administrator executed 

the following commands on the NetScaler using command-line interface: 

add rewrite action Act_1 replace_dns_header_field "dns.res.header.flags.set(aa)" 

add rewrite policy Pol_1 true Act_1 

bind rewrite global Pol_1 100 -type dns_res_override 

What will be the effect of executing the above commands? 

A. Set the AA bit of DNS Response 

B. Unset the AA bit of DNS Response 

C. Unset the AA bit of DNS Request 

D. Set the AA bit of DNS Request 

Correct Answer: A 

 

 

QUESTION 12

Which step can a Citrix Administrator take in order to use the default compression policies? 

A. Bind the default compression policies to the virtual server. 

B. Disable the NetScaler Compression feature at a global level. 

C. Select the compression algorithm (gzip/deflate/identity). 

D. Enable compression on the associated bound services. 

Correct Answer: A 

 

QUESTION 13

What two options are limitations of a typical Global Server Load Balancing (GSLB) setup? (Choose two.) 

A. Apply spillover policies on a subset of GSLB services, and the user CANNOT have a backup for a subset of GSLB
services. 

B. An administrator CANNOT define a backup for a backup Vserver in an active standby GSLB setup for a given GSLB
domain. 
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C. Restrict the selection of a GSLB service from a subset of GSLB service bound to a GSLB virtual server for the given
domain. 

D. Any given GSLB Vserver can load-balance only one FQDN. 

Correct Answer: AC  

 

QUESTION 14

Scenario: A Citrix Administrator has a NetScaler SDX appliance with several instances configured. The administrator
needs one instance with two interfaces connected to forward packets that are NOT destined for its MAC address.
Hence, the administrator has enabled Layer 2 mode. After enabling Layer 2 mode, the administrator found the interface
status going up and down. 

What can the administrator perform to resolve this issue? 

A. Disable Layer 2 mode on a NetScaler instance. 

B. Enable tagging on all interfaces. 

C. Enable Layer 3 mode along with Layer 2 mode. 

D. Enable MAC-based forwarding mode. 

Correct Answer: B 

 

QUESTION 15

A Citrix Administrator needs to block all the DNS requests from subnet 10.107.149.0/24. 

Which expressions can the administrator use to match the required traffic? 

A. CLIENT.IP.SRC.IN_SUBNET(10.107.149.0/24) andand client.UDP.DSTPORT.EQ(53) ||
client.TCP.DSTPORT.EQ(53) 

B. CLIENT.IP.SRC.IN_SUBNET(10.107.149.0/24) andand (client.UDP.DSTPORT.EQ(53) ||
client.TCP.DSTPORT.EQ(53)) 

C. CLIENT.IP.SRC(10.107.149.0) andand (client.UDP.DSTPORT.EQ(53) || client.TCP.DSTPORT.EQ(53)) 

D. CLIENT.IP.SRC(10.107.149.0) andand client.UDP.DSTPORT.EQ(53) || client.TCP.DSTPORT.EQ(53) 

Correct Answer: B 
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